Planning Guide: Multiplying and Dividing Whole Numbers

Sample Structured Interview: Assessing Prior Knowledge and Skills

	Directions
	Date:

	
	Not Quite There
	Ready to Apply

	Present the following problem to the student:

You have 5 cans of nuts that each weigh 360 g. What is the total weight of these cans of nuts?

Say, "Write a number sentence and describe a personal strategy to solve the problem. Write the answer to the problem in a complete sentence."


	Writes an incorrect number sentence to represent the problem.

Uses an incorrect operation, such as 5 + 360, to solve the problem

Multiplies the two numbers correctly but is unable to describe with understanding the strategy used.

Writes a sentence but the sentence does not answer the question asked. 
	Writes a correct number sentence to represent the problem; e.g., 5 × 360 = ?

Solves the problem correctly using a personal strategy and describes this strategy clearly with understanding.

Writes a complete sentence to answer the question.

	Present the following problem to the student:

"You read 4 times as long this week as you read last week. If you read for 72 minutes this week, how long did you read last week? Show your work and write your answer in a complete sentence."


	Uses an incorrect operation to solve the problem; e.g., multiplies 72 by 4.

Uses a correct operation to solve the problem but the work shown is vague and indicates limited understanding.

Writes a sentence but the sentence does not answer the question asked.


	Uses a correct operation to solve the problem and shows work that clearly indicates understanding of the process.

Writes a sentence that answers the question asked.

	Present the following problem to the student:

"Write all the possible number sentences that are represented by the following array. Explain how each number sentence relates to the array."

**********  **********  * * *  

**********  **********  * * * 

**********  **********  * * * 


	Writes some but not all of the possible number sentences represented by the array.

Has difficulty showing the connection between multiplication and division.

Explains vaguely or not at all how each number sentence relates to the array.
	Writes all the possible number sentences represented by the array.

Clearly demonstrates an understanding of the relationship between multiplication and division.

Explains clearly how each number sentence relates to the array.

	Present the following problem to the student:

"Sarah is putting 96 apples into bags with 6 apples in each bag. How many bags does she need? Explain your thinking. Write your answer in a complete sentence."


	Uses an incorrect operation to solve the problem; e.g., adds 96 and 6.

Uses a correct operation to solve the problem, but the explanation is vague and indicates limited understanding.

Writes a sentence but the sentence does not answer the question asked.
	Uses a correct operation to solve the problem and explains clearly the thinking done in solving the problem. 

Writes a sentence that answers the question asked.

	Present the following situation to the student:

"You save 3 times as much money this year as you saved last year. If you saved $128 last year, how much money did you save this year? Show your work and write your answer in a complete sentence."

Present the following solution to the student and ask him or her to explain why the solution to the problem makes sense or not:

"3 × 128 = (3 × 100) + (3 × 20) + (3 × 5) = 600 + 12 + 30 = 642

Answer:  I saved $642 this year."


	Does not understand the solution so is unable to critique it.

Disagrees with the solution and thinks a different operation should be used; e.g., 128 divided by 3.

Understands the use of place value in the application of the distributive property but fails to notice the error.


	Explains clearly how place value is used in the application of the distributive property.

States that there is an error and explains why it is an error, using strong conceptual understanding of place value.

Corrects the error efficiently and justifies why the adjusted answer is the right answer. 

	Tell the student:

"Create a problem that can be represented by the number sentence 72 
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 3 =     .   

Explain how you know your problem matches the number sentence."


	Does not create a problem that can be solved using division as indicated by the number sentence.

Creates a division problem but does not explain why the created problem matches the number sentence.
	Creates a division problem represented by the number sentence provided.

Explains clearly why the created problem matches the number sentence.
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